

## NOTE ON DUNKL-WILLIAMS INEQUALITY WITH $n$ ELEMENTS

KEN-ICHI MITANI, NORIYUKI TABIRAKI, AND TOMOYOSHI OHWADA

ABSTRACT. Recently, Pečarić and Rajić established a generalization of the Dunkl-Williams inequality for  $n$  elements in a Banach space. In this note we show a refinement of this inequality.

### 1. Introduction

Let  $X$  be a Banach space. For nonzero elements  $x, y \in X$  the *angular distance*  $\alpha[x, y]$  between  $x$  and  $y$  is defined by

$$\alpha[x, y] = \left\| \frac{x}{\|x\|} - \frac{y}{\|y\|} \right\|$$

(Clarkson [1]). Then the well-known Dunkl-Williams inequality [2] states that for any two nonzero elements  $x, y$ ,

$$\alpha[x, y] \leq \frac{4\|x - y\|}{\|x\| + \|y\|}. \quad (1)$$

It has been treated by many authors (e.g., [4, 10, 11], see also [3, 7, 8, 9, 12]). Particularly, the following sharp Dunkl-Williams inequality and its reverse one were obtained by Maligranda [5] and Mercer [6], respectively.

**Theorem A'** ([5, 6]). For any two nonzero elements  $x, y$  in a Banach space  $X$ ,

$$\frac{\|x - y\| - \left| \|x\| - \|y\| \right|}{\min\{\|x\|, \|y\|\}} \leq \alpha[x, y] \leq \frac{\|x - y\| + \left| \|x\| - \|y\| \right|}{\max\{\|x\|, \|y\|\}}.$$

Moreover, Pečarić and Rajić [11] showed that the following sharp Dunkl-Williams inequality and its reverse one with  $n$  elements in a Banach space.

---

2010 *Mathematics Subject Classification*. Primary 46B20.

*Key words and phrases*. Dunkl-Williams inequality, triangle inequality.

**Theorem A** ([11]). For all nonzero elements  $x_1, x_2, \dots, x_n$  in a Banach space  $X$ ,

$$\begin{aligned} & \max_{1 \leq i \leq n} \left\{ \frac{1}{\|x_i\|} \left( \left\| \sum_{j=1}^n x_j \right\| - \sum_{j=1}^n \left| \|x_j\| - \|x_i\| \right| \right) \right\} \\ & \leq \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \end{aligned} \quad (2)$$

$$\leq \min_{1 \leq i \leq n} \left\{ \frac{1}{\|x_i\|} \left( \left\| \sum_{j=1}^n x_j \right\| + \sum_{j=1}^n \left| \|x_j\| - \|x_i\| \right| \right) \right\}. \quad (3)$$

In this note we consider a refinement of these inequalities. In [7], some norm inequalities on intermediate values of the triangle inequality were presented. For positive integer  $n \geq 2$ , let  $M_n([0, 1])$  be the set of all  $n$  by  $n$  matrices whose all elements belong to the interval  $[0, 1]$  and  $L_n$  denote the set of all lower triangular matrices of  $M_n([0, 1])$ ; i.e.,

$$L_n = \left\{ a = (a_{ij}) \in M_n([0, 1]) \mid a_{ij} = 0 \quad (i < j) \right\}.$$

Let  $1 \leq m \leq n$ . For each  $a = (a_{ij})$  in  $L_n$ , we set

$$\ell_{mj}^a(m) = a_{mj} \quad (1 \leq j \leq m)$$

and if  $2 \leq n$ , then, for each  $m$  with  $2 \leq m \leq n$ , we put

$$\ell_{ij}^a(m) = a_{ij} \prod_{k=i+1}^m (1 - a_{kj}) \quad (1 \leq i \leq m-1, 1 \leq j \leq m).$$

**Theorem 1.1** ([7]). Let  $n \geq 2$ . With the above notation, take any  $a = (a_{ij})$  in  $L_n$ . For all elements  $x_1, x_2, \dots, x_n$  in a Banach space  $X$ , the following inequality holds

$$\sum_{i=1}^n \left( \sum_{j=1}^i \|\ell_{ij}^a(n)x_j\| - \left\| \sum_{j=1}^i \ell_{ij}^a(n)x_j \right\| \right) \leq \sum_{j=1}^n \|x_j\| - \left\| \sum_{j=1}^n x_j \right\|.$$

Let  $2 \leq m \leq n$ . For each  $a = (a_{ij}) \in L_n$  with  $a_{im} \neq 0$ , put

$$r_{ij}^a(m) = \begin{cases} \ell_{ij}^a(m-1) \left( \frac{1}{a_{mj}} - 1 \right) & (1 \leq j \leq m-1) \\ \frac{1}{a_{mj}} & (i = m, 1 \leq j \leq m) \end{cases}.$$

Then  $r_{nj}^a(n) \geq 1$  for each  $j$  with  $1 \leq j \leq n$  and the reverse of the above inequality was given in [13].

**Theorem 1.2** ([13]). Let  $n \geq 2$  and take  $a = (a_{ij}) \in L_n$  with  $a_{in} \neq 0$  ( $i \in \{1, \dots, n\}$ ). For all elements  $x_1, x_2, \dots, x_n$  in a Banach space  $X$ , the following

inequality holds

$$\begin{aligned} & \sum_{j=1}^n \|x_j\| - \left\| \sum_{j=1}^n x_j \right\| \\ & \leq \left( \sum_{j=1}^n \|r_{nj}^a(n)x_j\| - \left\| \sum_{j=1}^n r_{nj}^a(n)x_j \right\| \right) - \sum_{i=2}^{n-1} \left( \sum_{j=1}^i \|r_{ij}^a(n)x_j\| - \left\| \sum_{j=1}^i r_{ij}^a(n)x_j \right\| \right). \end{aligned} \quad (4)$$

These results will lead to new Dunkl-Williams inequalities with  $n$  elements which are sharper than the ones in Theorem A.

## 2. The results

We remark that the inequalities in Theorem A' are equivalent to the following:

$$\begin{aligned} & \frac{1}{\|x_2\|} \|x_1 + x_2\| - \left( \frac{1}{\|x_2\|} - \frac{1}{\|x_1\|} \right) \|x_1\| \\ & \leq \left\| \frac{x_1}{\|x_1\|} + \frac{x_2}{\|x_2\|} \right\| \\ & \leq \frac{1}{\|x_1\|} \|x_1 + x_2\| + \left( \frac{1}{\|x_2\|} - \frac{1}{\|x_1\|} \right) \|x_2\|, \end{aligned}$$

whenever  $\|x_1\| \geq \|x_2\| > 0$ . In view of these inequalities we obtain the following ones with  $n$  elements by using Theorem 1.1 and Theorem 1.2.

**Theorem 2.1.** *Let  $n \geq 2$ . For all nonzero elements  $x_1, x_2, \dots, x_n$  in a Banach space  $X$ ,*

$$\begin{aligned} & \frac{1}{\min_{1 \leq j \leq n} \|x_j\|} \left\| \sum_{j=1}^n x_j \right\| - \sum_{k=1}^{n-1} \left( \frac{1}{\|x_{k+1}^*} - \frac{1}{\|x_k^*} \right) \left\| \sum_{j=1}^k x_j^* \right\| \\ & \leq \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \end{aligned} \quad (5)$$

$$\leq \frac{1}{\max_{1 \leq j \leq n} \|x_j\|} \left\| \sum_{j=1}^n x_j \right\| + \sum_{k=2}^n \left( \frac{1}{\|x_k^*} - \frac{1}{\|x_{k-1}^*} \right) \left\| \sum_{j=k}^n x_j^* \right\|, \quad (6)$$

where  $(x_1^*, x_2^*, \dots, x_n^*)$  is the rearrangement of  $(x_1, x_2, \dots, x_n)$  satisfying  $\|x_1^*\| \geq \|x_2^*\| \geq \dots \geq \|x_n^*\|$ .

*Remark 2.1.* When  $n = 2$ , the inequalities in the previous theorem are equivalent to those in Theorem A'.

*Proof of Theorem 2.1.* Without loss of generality we may assume that  $\|x_1\| > \|x_2\| > \dots > \|x_n\| > 0$ . We first show the inequality (5). We set  $a = (a_{ij})$  satisfying

$$\begin{cases} a_{ii} = 1 & (1 \leq i \leq n) \\ a_{nj} = \frac{\|x_n\|}{\|x_j\|} & (1 \leq j \leq n) \\ a_{ij} = \frac{\|x_j\|}{\|x_i\|} \cdot \frac{\|x_i\| - \|x_{i+1}\|}{\|x_j\| - \|x_{i+1}\|} & (2 \leq i \leq n-1, 1 \leq j \leq n, i \geq j) \\ a_{ij} = 0 & (i < j). \end{cases}$$

It is clear that  $a \in L_n$ . Put  $\ell_{ij} = \ell_{ij}^a(n)$ . Then

$$\begin{cases} \ell_{11} = a_{11} = 1 \\ \ell_{nj} = a_{nj} = \frac{\|x_n\|}{\|x_j\|} & (1 \leq j \leq n) \\ \ell_{ij} = a_{ij} \prod_{k=i+1}^n (1 - a_{kj}) = \frac{\|x_n\|}{\|x_i\| \|x_{i+1}\|} (\|x_i\| - \|x_{i+1}\|) \\ \quad = \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \|x_n\| & (2 \leq i \leq n-1, 1 \leq j \leq n, i \geq j). \end{cases} \quad (7)$$

Substituting (7) into the inequality in Theorem 1.1, we have

$$\begin{aligned} \sum_{j=1}^n \|x_j\| - \left\| \sum_{j=1}^n x_j \right\| &\geq \sum_{i=1}^n \left( \sum_{j=1}^i \|\ell_{ij} x_j\| - \left\| \sum_{j=1}^i \ell_{ij} x_j \right\| \right) \\ &= \sum_{i=1}^{n-1} \left( \sum_{j=1}^i \|\ell_{ij} x_j\| - \left\| \sum_{j=1}^i \ell_{ij} x_j \right\| \right) + \left( \sum_{j=1}^n \|\ell_{nj} x_j\| - \left\| \sum_{j=1}^n \ell_{nj} x_j \right\| \right) \\ &= \sum_{i=1}^{n-1} \left\{ \|x_n\| \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \left( \sum_{j=1}^i \|x_j\| - \left\| \sum_{j=1}^i x_j \right\| \right) \right\} \\ &\quad + \|x_n\| \left( \sum_{j=1}^n \frac{\|x_j\|}{\|x_j\|} - \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \right). \end{aligned}$$

Hence

$$\begin{aligned} \frac{1}{\|x_n\|} \left( \sum_{j=1}^n \|x_j\| - \left\| \sum_{j=1}^n x_j \right\| \right) &\geq \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \sum_{j=1}^i \|x_j\| \\ &\quad - \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \left\| \sum_{j=1}^i x_j \right\| + n - \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| \end{aligned}$$

and so

$$\begin{aligned} & \frac{1}{\|x_n\|} \left\| \sum_{j=1}^n x_j \right\| - \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \left\| \sum_{j=1}^i x_j \right\| \\ & \leq \frac{1}{\|x_n\|} \sum_{j=1}^n \|x_j\| - \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \sum_{j=1}^i \|x_j\| - n + \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\|. \end{aligned}$$

From

$$\begin{aligned} & \frac{1}{\|x_n\|} \sum_{j=1}^n \|x_j\| - \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{i+1}\|} - \frac{1}{\|x_i\|} \right) \sum_{j=1}^i \|x_j\| \\ & = \frac{1}{\|x_n\|} \left( \sum_{j=1}^n \|x_j\| - \sum_{j=1}^{n-1} \|x_j\| \right) + \frac{1}{\|x_{n-1}\|} \left( \sum_{j=1}^{n-1} \|x_j\| - \sum_{j=1}^{n-2} \|x_j\| \right) + \cdots + \frac{1}{\|x_1\|} \|x_1\| \\ & = \sum_{i=1}^n \frac{\|x_i\|}{\|x_i\|} = n, \end{aligned} \tag{8}$$

we obtain the inequality (5). We next prove the inequality (6). For each  $j$ , put  $y_{n+1-j} = x_j$ . It is clear that  $\|y_1\| < \|y_2\| < \cdots < \|y_n\|$ . We set  $a = (a_{ij})$  satisfying

$$\begin{cases} a_{nj} = \frac{\|y_j\|}{\|y_n\|} & (1 \leq j \leq n) \\ a_{ij} = \frac{\|y_j\|}{\|y_i\|} \cdot \frac{\|y_{i+1}\| - \|y_i\|}{\|y_{i+1}\| - \|y_j\|} & (1 \leq j \leq i \leq n-1) \\ a_{ij} = 0 & (i < j). \end{cases}$$

It is clear that  $a \in L_n$ . Put  $r_{ij} = r_{ij}^a(n)$ . Then

$$\begin{cases} r_{nj} = \frac{1}{a_{nj}} = \frac{\|y_n\|}{\|y_j\|} & (1 \leq j \leq n) \\ r_{ij} = \ell_{ij}^a(n-1) \left( \frac{1}{a_{nj}} - 1 \right) = \|y_n\| \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) & (1 \leq j \leq i \leq n-1). \end{cases} \tag{9}$$

Substituting (9) into the inequality in Theorem 1.2 we have

$$\begin{aligned} \sum_{j=1}^n \|y_j\| - \left\| \sum_{j=1}^n y_j \right\| & \leq \left( \sum_{j=1}^n \|r_{nj} y_j\| - \left\| \sum_{j=1}^n r_{nj} y_j \right\| \right) - \sum_{i=2}^{n-1} \left( \sum_{j=1}^i \|r_{ij} y_j\| - \left\| \sum_{j=1}^i r_{ij} y_j \right\| \right) \\ & = \left( \sum_{j=1}^n \|r_{nj} y_j\| - \left\| \sum_{j=1}^n r_{nj} y_j \right\| \right) - \sum_{i=1}^{n-1} \left( \sum_{j=1}^i \|r_{ij} y_j\| - \left\| \sum_{j=1}^i r_{ij} y_j \right\| \right) \\ & = \|y_n\| \left( \sum_{j=1}^n \frac{\|y_j\|}{\|y_j\|} - \left\| \sum_{j=1}^n \frac{y_j}{\|y_j\|} \right\| \right) \end{aligned}$$

$$- \sum_{i=1}^{n-1} \left\{ \|y_n\| \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) \left( \sum_{j=1}^i \|y_j\| - \left\| \sum_{j=1}^i y_j \right\| \right) \right\}.$$

Hence

$$\begin{aligned} \left\| \sum_{j=1}^n \frac{y_j}{\|y_j\|} \right\| &\leq \frac{1}{\|y_n\|} \left\| \sum_{j=1}^n y_j \right\| + n - \frac{1}{\|y_n\|} \sum_{j=1}^n \|y_j\| \\ &\quad - \sum_{i=1}^{n-1} \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) \sum_{j=1}^i \|y_j\| + \sum_{i=1}^{n-1} \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) \left\| \sum_{j=1}^i y_j \right\|. \end{aligned}$$

As in (8) we obtain

$$\frac{1}{\|y_n\|} \sum_{j=1}^n \|y_j\| + \sum_{i=1}^{n-1} \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) \sum_{j=1}^i \|y_j\| = n.$$

Thus

$$\left\| \sum_{j=1}^n \frac{y_j}{\|y_j\|} \right\| \leq \frac{1}{\|y_n\|} \left\| \sum_{j=1}^n y_j \right\| + \sum_{i=1}^{n-1} \left( \frac{1}{\|y_i\|} - \frac{1}{\|y_{i+1}\|} \right) \left\| \sum_{j=1}^i y_j \right\|.$$

By  $x_{n+1-j} = y_j$ ,

$$\begin{aligned} \left\| \sum_{j=1}^n \frac{x_j}{\|x_j\|} \right\| &\leq \frac{1}{\|x_1\|} \left\| \sum_{j=1}^n x_j \right\| + \sum_{i=1}^{n-1} \left( \frac{1}{\|x_{n+1-i}\|} - \frac{1}{\|x_{n-i}\|} \right) \left\| \sum_{j=1}^i x_{n+1-j} \right\| \\ &= \frac{1}{\|x_1\|} \left\| \sum_{j=1}^n x_j \right\| + \sum_{k=2}^n \left( \frac{1}{\|x_k\|} - \frac{1}{\|x_{k-1}\|} \right) \left\| \sum_{j=k}^n x_j \right\|. \end{aligned}$$

Thus the inequality (6) holds.  $\square$

In the following, we shall show that the inequalities in Theorem 2.1 are sharper than those in Theorem A.

**Theorem 2.2.** *The inequality (6) and the inequality (5) in Theorem 2.1 are sharper than the inequality (3) and the inequality (2) in Theorem A, respectively.*

*Proof.* Without loss of generality we may assume that  $\|x_1\| \geq \|x_2\| \geq \dots \geq \|x_n\| > 0$ . We put  $P$  and  $Q$  as the right side of the inequality (6) in Theorem 2.1 and the right side of the inequality (3) in Theorem A, respectively. Let us show the inequality  $P \leq Q$ . For each  $k$  with  $1 \leq k \leq n$  we put  $u_k = \sum_{j=k}^n x_j$  and  $v_k = \sum_{j=1}^k x_j$ . Moreover, for each  $k$  with  $2 \leq k \leq n$  we put  $\alpha_k = 1/\|x_k\| - 1/\|x_{k-1}\|$ . Fix  $i$  with  $2 \leq i \leq n-1$ . Since

$$\frac{1}{\max_{1 \leq j \leq n} \|x_j\|} = \frac{1}{\|x_1\|} = \frac{1}{\|x_i\|} - \sum_{k=2}^i \alpha_k$$

and  $\|u_1\| = \|u_k + v_{k-1}\| \geq \|u_k\| - \|v_{k-1}\|$  for each  $k$  with  $2 \leq k \leq n$ , it follows that

$$\begin{aligned}
P &= \frac{\|u_1\|}{\|x_i\|} - \sum_{k=2}^i \alpha_k \|u_1\| + \sum_{k=2}^n \alpha_k \|u_k\| \\
&\leq \frac{\|u_1\|}{\|x_i\|} - \sum_{k=2}^i \alpha_k (\|u_k\| - \|v_{k-1}\|) + \sum_{k=2}^n \alpha_k \|u_k\| \\
&= \frac{\|u_1\|}{\|x_i\|} + \sum_{k=i+1}^n \alpha_k \|u_k\| + \sum_{k=2}^i \alpha_k \|v_{k-1}\| \\
&\leq \frac{\|u_1\|}{\|x_i\|} + \sum_{k=i+1}^n \alpha_k \sum_{j=k}^n \|x_j\| + \sum_{k=2}^i \alpha_k \sum_{j=1}^{k-1} \|x_j\|.
\end{aligned}$$

Here we clearly have

$$\sum_{k=i+1}^n \alpha_k \sum_{j=k}^n \|x_j\| = \frac{1}{\|x_i\|} \sum_{k=i+1}^n (\|x_i\| - \|x_k\|)$$

and

$$\sum_{k=2}^i \alpha_k \sum_{j=1}^{k-1} \|x_j\| = \frac{1}{\|x_i\|} \sum_{k=1}^{i-1} (\|x_k\| - \|x_i\|).$$

Noting  $\|x_1\| \geq \|x_2\| \geq \dots \geq \|x_n\| > 0$  we have the inequality

$$P \leq \frac{1}{\|x_i\|} \left( \left\| \sum_{j=1}^n x_j \right\| + \sum_{k=1}^n \left| \|x_i\| - \|x_k\| \right| \right).$$

Thus we obtain  $P \leq Q$ .

We put  $R$  and  $S$  as the left side of the inequality (5) in Theorem 2.1 and the left side of the inequality (2) in Theorem A, respectively. Let us show the inequality  $R \geq S$ . Fix  $i$  with  $2 \leq i \leq n-1$ . Since

$$\frac{1}{\min_{1 \leq j \leq n} \|x_j\|} = \frac{1}{\|x_n\|} = \frac{1}{\|x_i\|} + \sum_{k=i}^{n-1} \alpha_{k+1}$$

and  $\|v_n\| = \|v_k + u_{k+1}\| \geq \|v_k\| - \|u_{k+1}\|$  for each  $k$  with  $1 \leq k \leq n-1$ , it follows that

$$\begin{aligned}
R &= \frac{\|v_n\|}{\|x_i\|} + \sum_{k=i}^{n-1} \alpha_{k+1} \|v_n\| - \sum_{k=1}^{n-1} \alpha_{k+1} \|v_k\| \\
&\geq \frac{\|v_n\|}{\|x_i\|} + \sum_{k=i}^{n-1} \alpha_{k+1} (\|v_k\| - \|u_{k+1}\|) - \sum_{k=1}^{n-1} \alpha_{k+1} \|v_k\| \\
&= \frac{\|v_n\|}{\|x_i\|} - \sum_{k=1}^{i-1} \alpha_{k+1} \|u_k\| - \sum_{k=i}^{n-1} \alpha_{k+1} \|u_{k+1}\|
\end{aligned}$$

$$\geq \frac{\|u_n\|}{\|x_i\|} - \sum_{k=1}^{i-1} \alpha_{k+1} \sum_{j=1}^k \|x_j\| - \sum_{k=i}^{n-1} \alpha_{k+1} \sum_{j=k}^n \|x_j\|.$$

Here we clearly have

$$\sum_{k=1}^{i-1} \alpha_{k+1} \sum_{j=1}^k \|x_j\| = \frac{1}{\|x_i\|} \sum_{k=1}^{i-1} (\|x_k\| - \|x_i\|)$$

and

$$\sum_{k=i}^{n-1} \alpha_{k+1} \sum_{j=k+1}^n \|x_j\| = \frac{1}{\|x_i\|} \sum_{k=i+1}^n (\|x_i\| - \|x_k\|).$$

Noting  $\|x_1\| \geq \|x_2\| \geq \dots \geq \|x_n\| > 0$  we have the inequality

$$R \geq \frac{1}{\|x_i\|} \left( \left\| \sum_{j=1}^n x_j \right\| - \sum_{k=1}^n (\|x_i\| - \|x_k\|) \right).$$

Thus we obtain  $R \geq S$ . □

## References

- [1] J. A. Clarkson, *Uniformly convex spaces*, Trans. Amer. Math. Soc. **40** (1936), 396–414.
- [2] C. F. Dunkl and K. S. Williams, *A simple norm inequality*, Amer. Math. Monthly **71** (1964), 53–54.
- [3] M. Kato, K.-S. Saito and T. Tamura, *Sharp triangle inequality and its reverse in Banach spaces*, Math. Inequal. Appl. **10** (2007), 451–460.
- [4] W. A. Kirk and M. F. Smiley, *Another characterization of inner product*, Amer. Math. Monthly **71** (1964), 890–891.
- [5] L. Maligranda, *Simple norm inequalities*, Amer. Math. Monthly **113** (2006), 256–260.
- [6] P. R. Mercer, *The Dunkl-Williams inequality in an inner product space*, Math. Inequal. Appl. **10** (2007), 447–450.
- [7] K. Mineno, Y. Nakamura and T. Ohwada, *Characterization of the intermediate values of the triangle inequality*, Math. Inequal. Appl. **15** (2012), 1019–1035.
- [8] K. -I. Mitani, K. -S. Saito, M. Kato and T. Tamura, *On sharp triangle inequalities in Banach spaces*, J. Math. Anal. Appl. **336** (2007), 1178–1186.
- [9] K. -I. Mitani and K. -S. Saito, *On sharp triangle inequalities in Banach spaces II*, J. Inequal. Appl. 2010, Art. ID 323609, 17 pp.
- [10] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and new inequalities in analysis*, Kluwer Academic Publishers, Dordrecht-Boston-London, 1993.



- [11] J. Pečarić and R. Rajić, *The Dunkl-Williams inequality with  $n$  elements in normed linear spaces*, Math. Inequal. Appl. **10** (2007), 461–470.
- [12] H. Sano, T. Izumida, K.-I. Mitani, T. Ohwada and K.-S. Saito, *Characterization of intermediate values of the triangle inequality II*, Cent. Eur. J. Math. **12** (2014), 778–786.
- [13] H. Sano, K. Mineno, Y. Hirota, S. Izawa, C. Tamiya and T. Ohwada, *Characterization of the intermediate values of the triangle inequality III*, J. Nonlinear Convex Anal., to appear.

(K.-I. Mitani) Department of Systems Engineering, Okayama Prefectural University, Soja 719-1197, Japan

*E-mail address:* mitani@cse.oka-pu.ac.jp

(N. Tabiraki) Shizuoka Prefectural High School of Science and Technology, Shizuoka 420-0813, Japan

*E-mail address:* volleyball.tabiraki@yahoo.co.jp

(T. Ohwada) Faculty of Education, Shizuoka University, Shizuoka 422-8529, Japan

*E-mail address:* etoowad@ipc.shizuoka.ac.jp

Received January 27, 2016

Revised March 23, 2016